PISMENI DIO ISPITA IZ ENGLESKOG II/A/6.12.2004.

I. TRANSLATE!

1. When professional carriers appeared on the scene, they were regulated in some way. As transport is often dependent on infrastructures, implaying land requirements and the possibillity of expropriation this results in a monopoly situation.

2. Privatni cestovni transport prolazi duboke tehnološke promjene,koje su počele 1980. Do kraja stoljeća, tehnologija konstrukcije automobila kao i tehnologija prometnog upravljanja i kontrole, proizvest će značajno drugačije okružje za cestovni promet. To okruženje se danas naziva integralno okruženje za cestovnog prometa. Ključni faktor za razvoj novih sustava je kompjuter i tehnologija telekomunikacija.

II. EXPLAIN THE STATMENT „to avoid transportation mankind invented the city!“

III. ANSWER THE QUESTIONS:

1. What is influencing the development of regions and countries?
2. How can modes of transportation be characterized?

IV. TRANSLATE INTO ENGLISH:

Transportni sustavi moraju se sučeljavati sa zahtjevima modernog društva za sve učestalijim premještanjem ljudi i roba. Transport danas doživljava erupciju novih dostignuća da bi zadovoljio te zahtjeve. 

        V. WRITE A FEW LINES ON „The role of telematics in modern world“!

